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Questionl1:-Consider the following statements about the Guruvayur Satyagraha.

(i)  The Satyagraha failed to achieve its immediate goal viz. temple entry to lower castes

(i) The Satyagraha was started on 1st November 1932
(iii)  The Guruvayur temple was controlled by the Zamorin
Of Calicut of these statement
A:-(i) and (ii) are correct
B:-Only (iii) is correct
C:-(i) and (iii) are correct
D:-Only (ii) is correct
Correct Answer:- Option-C
Question2:-Which one of the following pairs is not correctly matched?
A:-Lalithambika Antharjanam Nivedyam
B:-Anna chandy - Aatmakatha
C:-Akkamma Cheriyan - Jeevitham oru Samaram
D:-Madhavikutty - Amavasi

Correct Answer:- Option-A

Question3:-Which of the following statement is/are correct about the university of Travancore?

(i) Sir C.P. Ramaswamy lyer was the first vice chancelleor of the university
(ii) It was established in 1937
(iii) It became the university of Kerala on 1st November 1960
A:-Only (i) and (iii)
B:-Only (i) and (ii)
C:-All of the above (i), (ii) and (iii)
D:-Only (i) and (iii)
Correct Answer:- Option-B
Question4:-Consider the following with regard to Vakkom Abdul Khader Maulavi:
(i) He was the founder of the Travancore Muslim Mahajana Sabha
(ii) His autobiography is 'Maulaviyude Aatmakatha'
(iii) He published a Malayalam Journal called 'Deepika’.
Which of the statement given above is/are not correct?
A:-Only (iii)
B:-Only (i) and (ii)
C:-Only (ii) and (iii)
D:-Only (ii)
Correct Answer:- Option-D
Question5:-Which one of the following works are related to Ulloor S Parameswara lyer?
A:-'Paralokam' and 'Veera Sringala'
B:-'Divyageetham' and 'Kalithozhi'
C:-'Arunodayam' and 'Tharaharam'
D:-'Chenkathirukal' and 'Vellipparavakal'
Correct Answer:- Option-C
Question6:-Consider the following statements regarding Pampadi John Jeseph:
(i) The book 'Dhyana Sallapangal' was written by Pampadi John Joseph
(ii) He founded the Travancore Cheramar Mahajansabha
(iii) He started the magazine 'Sadhu Jana Dootan'
Which of the statement given above is/are correct?
A:-Only (ii) and (iii)
B:-Only (i) and (ii)
C:-Only (i)

D:-All of the above (i), (ii) and (iii)



Correct Answer:- Option-A

Question7:-With reference to the Kerala Sangeetha Nataka Academy, consider the following statements:
(i) The academy was formally inaugurated by pandit Jawaharlal Nehru
(ii) It was inaugurated on 26th April 1956

(iii) A bi-Monthly journal 'Keli' is published regularly by the institution
Which of the statement given above is/are correct?

A:-Only (iii)

B:-Only (i) and (iii)

C:-Only (i) and (iii)

D:-Only (ii)

Correct Answer:- Option-B
Question8:-Which of the following statement is/are not correct about Ayya Vaikundar?
(i) He was the first to make mirror consecration (Kannadi Prathishta) in South India
(ii) He is the author of 'Arulnul’
(iii) He was the founder of 'Atmavidya Sangham’

A:-Only (i)

B:-Only (i) and (iii)

C:-Only (iii)

D:-Only (i) and (ii)

Correct Answer:- Option-C

Question9:-Consider the following statements regarding the union public service commission of India:
(i) Framing and amendment of Recruitment Rules for various services and posts under the government
(ii) Disciplinary cases relating to different civil services
(iii) Advising the government on any matter referred to the commission by the prime minister of India
Which of the statement given above is/are correct?
A:-Only (i) and (iii)
B:-Only (i) and (ii)
C:-all of the above (i), (ii) and (iii)
D:-Only (i) and (iii)
Correct Answer:- Option-B
Question10:-Consider the following statements regarding the Attorney General of India:
(i) The Attorney General shall have right of audience in all courts in the territory of India
(ii) He shall receive such remuneration as the parliament may determine
(iii) The Attorney General shall hold office during the pleasure of the president
Which of the statement given above is/are correct?
A:-Only (i)
B:-Only (ii)
C:-Only (i) and (iii)
D:-Only (i) and (iii)

Correct Answer:- Option-C

Question11:-Which of the following statement is/are not correct about the Legislative department in India?
(i) Implementation of the Law commission reports relating to the Election commission of India
(ii) The department facilitating timely conduct of free and fair elections to parliament and to state legislature
(iii) Disseminating information relating to principal legislation
A:-Only (iii)
B:-Only (ii) and (iii)
C:-Only (i)
D:-Only (i) and (iii)

Correct Answer:- Option-C

Question12:-Which of the following statement is/are correct about the Annapurna scheme by the ministry of Rural development?
(i) The scheme is a part of the National social Assistance programme
(ii) This scheme was launched on 1st April 2000
(iii) The age of the applicant should be 60 years or above
A:-Only (i) and (ii)
B:-Only (ii) and (iii)
C:-Only (i) and (iii)
D:-All of the above
Correct Answer:- Option-A

Question13:-Which of the following is correct about the SVAMTVA scheme in India?

A:-An integrated property validation solution for rural India



B:-It is a scheme for farmers which aims to install solar pumbs, grid connected solar and other Renewable power plants across the country
C:-National mission for empowerment of women
D:-None of the above
Correct Answer:- Option-A
Question14:-Which of the following statement about the 2021 Nobel prize laurates in physiology or medicine is correct?
A:-The discovery of hepatitis C virus
B:-Discovery of cancer therapy by inhibition of negative immune Regulation
C:-Discoveries of how cells sense and adopt to oxygen availability
D:-Discoveries of receptors for temperature and touch
Correct Answer:- Option-D
Question15:-Which of the following is correct about the principal tributary of the Brahmaputra river in India?
A:-The Gandak
B:-The Dhansiri
C:-The Kosi
D:-The Ghaghra
Correct Answer:- Option-B
Question16:-Which of the following is not true of the Gandhi Irwin pact of 19317
(i) The pact allowed to suspend the civil Disobedience movement
(ii) The government agreed to Release all political prisoners who had remained non-violent
(iii) congress agreed to take part in the first Round table conference
A:-Only (i)
B:-Only (ii) and (iii)
C:-Only (iii)
D:-Only (ii)
Correct Answer:- Option-C
Question17:-Which space agency is associated with 'Deep Space Atomic clock'?
A:-ISRO
B:-JAXA
C:-NASA
D:-CSA
Correct Answer:- Option-C
Question18:-Which of the following statement is correct about the gaseous state?
(i) Gases are highly compressible
(ii) Gases have more density than the solids and liquids
(iii) Gases exert pressure equally in all directions
A:-Only (i) and (ii)
B:-Only (iii)
C:-Only (ii)
D:-Only (i) and (iii)
Correct Answer:- Option-C
Question19:-Which soil type is also known as 'Omnibus Group'?
A:-Regur soil
B:-Red soil
C:-Laterite soil
D:-Arid soil
Correct Answer:- Option-B
Question20:-Which of the following statement is/are true about viruses?
(i) They are single - celled
(ii) They are not considered true 'living'
(iii) They are much smaller than bacteria
A:-Only (ii)
B:-Only (i) and (ii)
C:-Only (i) and (iii)

D:-Only (i) and (iii)



Correct Answer:- Option-C
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Correct Answer:- Option-D
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A:-Instant Messaging
B:-Mail Merge
C:-Send mail
D:-Important mail
Correct Answer:- Option-A
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